©7 5 LoiEn

9

Osaki Information

DV OHEQEL Y Q Ef
1 =KL B RS ERUNIE
S’ A D NIEKE - SR
IT— R — 3038 S 4o

GEslanpi|

Sm-m(X) Q-9
(qHug)

IR =0 O IR
(BMEHEIR—~-Ioe - 2)
(€25
BREHCELIBEAHIR
(40 24m]

=4

(CNSISE |

Sl
EEBREmENSIRY NN N
SR REHE K

oo -NON-SMmMANN

MO NtERFJIH

¥ - RF)OHKIH]

FINNIR Y ISk
NONOHIOmMEHQ [T
BIR-R0) O EX - 21 DK
SERUEDRY | EUNEEOM
S B%IN NIRRT Nk O
Mo R—RRI DM M
HROBSeH N IRy 28
30 D {ARP IS DR TN D™ B
LD ENREKLLLL D6 D
0 M QHIE QIR ERREL
O S 460

G REINANTNAII |

waoco<

- BUHE CHHERSN
[HZEEERISIN AN IR Y IK]
vcoo<

BRI HI C18101R ¢ QHIEETEEK
EE)

MKEEOV T R DMEE - K
=g = NWIIERN 0 5 °
BELCRFERIOHHEY - R
O 6K UKL KNI K SE 12
(TR A= [ & - < L 2 X H —

DKIHIEEEHEH EIRER)

RO -NO-NOO O

F<4#)J IRt O
BXR—TTAND—2)

KEQT &+ EHHE £R
PEP KO REHERD | R
REE L T<ENRP 0% XK —
IARDN—R | QLEIENIRIEK OB 400
(k& 0B S K]

HEQL LB SEWUSHKEY
R MHEQINRSHIT A
o MRE<ESHH - BHHY
DN CaNERIN
(k408 S HESEHP]

EEREEQRERIvORo-E
I | (SHEXDERNEPK
HAS o AR - EHIWDE)
({21 R

oMK (Im) #1~

FOMIIEF TR

(t21427K]

TR < IE Z R L B 2
hach K

OV I KRG —~G°C =N
HRA350 50 (<SR | &R
BoHb< 0T ZIR S

oo -NWWO - NINNS

EKkraNnoNo
FOANVUDD
B> A —
BN NS — ik

K -mImM JM KW

WEWINERENONO R DN
MARNEXDA—UO S RE
TERICRIIE o387 BN N —
RIREK O™ 5 #10°

(f21640K]

(O iy Sl b il SR St
C=DNSERIN Y — g~ 2k

(MERIBIEE XN N A — 12k
BER YL | VERK)

QRN S IRESE QB TR
B MBI KT KK
R ERRIE ¢ L IR

[FooD N - OO0~

BRIEEE-IES - o

KESHERRIER Y X < #

({2 R )
I~ 1 () oM & M (+)
sl A T

Hor—NO - -NONO-©

@ Emb%_m_m._u_ﬂz___ﬁ#.b
SR OP

BICIR N A O 7" om S
M (X)) RO — B REE B [
TR I~ MR W i 0 I
Hh— | WEHE OHh° WQED
RO BIXIR ORI 60dF
EHEERE S #°
()

o me~m (H)

FR-ESRAFRoiEGR
(3R]

I B4 — BT-K EE M
(gw)

TEHEQHEQSHE —h - NN~
LN
(=]

Eqos
[ HRK]

RERNNRESCEHE L6
SIS RHIE AR D N S — I I
QR XU XERPFEC
REF OBV LE BHELINS
o RSERHIE S~ —N
WISt
(3 k- XM BT ZE K

Rooo-aNANS -0

BER ®476-1111(511)

MIREL

e
=

SHTE7 B FHE ) HAHEER (B1R5)

m T R
= m_m
H 278
K m @
! © ©
=IN =
2K 8|3
m Q| fL N
B R|I2| K
= _ _
=INI =
%435
B I & &
S|l w | v | o
RN

=R (1)
1,109,000 (EEE X BETR X FXE)

1,057,000 (BEBE X T@A X FEXE)

A& Mg CEERIRE) TI

i
=%
ES(

&= SMNTE8 RS

25



